2013Jr. 8 4 E{I304I(401i1)

T

v K a >

B2 [ FE _IHERR] 57L [F5
6 E W MM S S BT
SMEE = NIRRT AR ?%E]’ 27:32:09 3
Ee ax ,Rr:*p; Mﬂg 27:48.05] 3
Sk 2 EEEJ*FJ; IJ-lﬁz 28:03:07 3
LRSS IJJ/M:*;** = 28:09:07] 3
27 R E%E]E;ﬁx R 28:11:07] 3
Sl K = ij:ﬁtﬂ"?ij‘: EE]’ 28:11:08 3
T & :EEEE]E?_; 1l:§§;E 28:17:09] 3
olhE R Ef!%::éé:;i %ﬁ,ﬁﬁ 28:21:02] 2
e S x%mﬁ_; =5 28:22.02] 3
D=a =5 *E%czéé-; %uJJ?,F% 28:23:02] 2
To[ s fEe |8 ik A 7 -
Al B %H:II:E:%* it 28:25:07] 3
SARE B len e =& 28:27.07] 2
HEERGI [_ﬁm?_; tisE [ 28:37:.09] 2
s %7 %mm?_; ﬁﬁ% 28:39:04] 2
TSIE —E Eﬁtziﬁi tiEE 28:44:01 2
OBl R %%E:E?'f‘: :IEE]’ 28:48:04] 3
2olEm =th m/pqut%* LiE | 28:54:05 3
= =@ %%Ec;%; Pt il 28:54.09] 3
I BE A B 5y JtimE 28:55:02 2
RES E*lthuc:s;n* =5 28:55:09] 3
alEE TE *%Emﬁ_; 2 28:59:00] 2
S5leoe T ﬂmm?*’zx EE? 28:59:03 2
THEL B ﬁﬁﬁmpﬁcﬁﬂk it/@;ﬁ 29:02:09 2
RS I‘—_'I%EEP"?F‘%X £ 29:04:03 2
RN R ;.u.*,a- EJ” 29:10:08 3
T = /J\%@nﬁ*é; x_|FRHE 29:17.08] 2
SRR B *Lmﬁmﬁrré# %ﬁ;%\ 29:19:06] 2
R e e IR ;t;ﬁﬁ 29:20.02] 3
2l kF B mﬁ’;ﬁﬁ—:ﬁ =5 *ﬁ'% 29:21:07 1
e af EHeE A:EE‘ 29:22:08] 2
ET W ﬁ%w?_; dLifgiE | 20:2304] 2
LTI EE::*?-; IJ-lffé 29:28:03| 3
TG 35 [J_|/|7<|:|:|"=;1:»‘= %ﬁ,% 29:28:05] 2
S EE B /]\i}iqz"ﬁj«*x EE? 29:32:.00 2
38| H+E K /\#—@c:ﬁ-x ;FE 29:32.03 3
ol £11 S8 iaTSe g e 3
B T :35:00

TIR MEAN | KERZPEK s 29:37:06 ?




2013Jr. 8 4 E{I304I(401i1)

’731973»
JIE 5L K4 g #RE AT

_ FE| 24 L |F5F
; jﬁ %ﬁ M/erlﬁéjsc EH 30:42:00 3
1= é El;ﬁ Ej.%;q?:?* Eﬁf 31:44:00 3
S Em P T
Bk #E [AEsh  1ee Tisol
T
tLE R BEHRFER 14 :46: 3

8RB PFE |[KEFEDZEKR ¥ 32:57:
2 3 R -57:05 2
18 ;J‘;;J?%{%méﬁ *Lmﬁﬁﬂiﬂfﬁc JbimE | 32:59:04 3
1< Elﬂ Eéﬂ ﬁﬁﬂiﬁﬁﬁﬁi—? X E?T" 33:03:00 2
L xé % B AR JtifEE | 33:19:.04] 3
LEE SE ’i%%ii:iif WEE? 33:30:07 3
14{chIg %Zfr S?EEE:;;'E g% ggggg: :
15[ R &N st [JERRPR i 33:3501 ;
PEE St i Raese (55 Tssdso0l s
= g = %_ 7 33:46:06 3
18 E;; ?‘-j‘iJ‘é‘L %ﬂitﬁ% % E?ﬁ‘" 33:46:06 2
o K .:.EEEP-inaL 5 33:50:02 2
Nl A IJ.I:/I* q:ﬁﬂ-ﬁsa E?ﬁ‘{ 33:50:06 2
DR b fﬁﬁiiﬂ‘ dtiEE | 34:06:02 3

— = R H F4K % :Vo:
e o e —The T
24[MEFT 2t Bl THEE 341700 2
gg Jét% E% %;EE;}E?-&* _ %ﬁiﬁ@ 34:21:09 3
28 lcP % g;u EEE%& E?r 34:23:07 3
A ﬂg é?ﬁif %ﬁgﬁ%‘ 34:34:00 2
2o A L E@E:ﬁ" ;E’g;ﬁ 34:36:05 2
i R 34:38:05 2
g? %ﬁgl‘:r.:rls ;EF; :ﬂ%iﬁ;ﬁfﬁx zi.%l.% 34:39:09 3

AS = %, 5.-- . .

2l AT Rt o=E [ ado0r 2
FE RE INFA T 3 VTR
A e e e oo

35/ e EaL = '54:
37| BE  [BirheR S0 Ta45502 :
seE ME |EETER 3 56: 3
I[EH F=A %IIJ\::A Xru- = = 34:56:05 3
S = ﬁqf_-ﬂsa i 34:56:05 1
; E [BEHER E& 35:08:00 3




2013Jr. 8 4 E{I304I(401i1)

ZF2)—

B | K% & HEFE [2ML  [ZFHF
1;EF ZE |HEPER tiEE 15:38.4 3
2|RE 2 [/ RPER E¥ 15:40.6 2
AT BIE  [HREZRPER (REF 15:40.6 1
4EER HEER |IL/ AP E¥ 15:40.7 2
5|EH ZHAH [BIIFER A H 16:05.5 3
6KH E# [THHMGTER |BF 16:10.2 2
11% BHHZE [ =Ll 16:15.0 3
8I/MA T [BRIUBEPER |EF 16:18.1 2
9|HJII ‘h* B ERER E¥ 16:21.3 3
10| ILIG == WESRETER (B 16:21.5 2
11 JIl.“l &TE ETLihEP'&F* %ﬁ 16:23.5 3
12[XR1E #HE |S)IFER A H 16:23.7 3
13 FE IR PER = 16:29.1 3
14[IUAKR FBH  |IL/ARER E¥ 16:34.7 3
150 HEE |ERIIPER itiEE 16:40.1 3
16BH #EKR |FIEPER iEE 16:40.5 3
17|%8 EE  (FiOhthig a5 16:48.3 2
18[f8H X T PR tiEE 16:49.2 2
19[XE HEB |BEPER tiEE 16:53.5 2
20|pkH AfE  |[TEwE—FER(FHE 16:57.6 2
21|A+E B [EERER W 17:00.4 3
22|IUAK BRE  |IU/AH=ER £EH 17:04.8 1
23|=E Fi  [BERER E¥ 17:08.7 1
248X K |HlupdtdE | R% 17:13.6 2
25)Re HlE  [RHhARER tiEE 17:14.1 1
26(lUA Atin [BEAHFF R dtiEE 17:14.9 2
27|/0E& B5 Ak B T ST B B p AR (RN 17:17.0 1
28|15 FEEF |[HEBR R tiEE 17:20.7 1
29|FA XA |[FHEEKR e 17:22.0 3
20|5KE8 #E7h (Bl =R 55 17:22.0 3
20|k KB |[KERER ﬁ% 17:22.0 1
2 E#E | KREFERPER (LR 17:23.5 2
BB EBARE | KIPER 5 17:24.5 3
4|KH EBF  |/MRPER A H 17:24.6 3
3Bb|hFH BRIE  |FHER =Ll 17:26.0 2
6|FAH EfE [/ APERKR ¥ 17:29.5 2
37|5@ #® EILF R iz 17:29.9 2
38|EH EEE [EHPER s 17:32.7 2
9=H ZE +HE B SR |FhS 17:37.7 2
VEH HP |/MFAEEFRER |#FE 17:41.9 1




2013Jr. 8 4 E{I304I(401i1)

95T hIL
[t K4 B HMEFE| 2L [FF
1EE BHEE [IU/ NP E¥ 19:03.0 2
20BEH #HK ([FIEDPER tiEE 19:12.3 3
IR FHH W/ AHER E¥ 19:16.5 3
A|EH ERHE |8 ER A H 19:27.7 3
5l BHE  [lL/RFER E¥ 19:35.6 1
6KH F# [THHMSER |BF 19:39.5 2
7/RAE £2m  [IL/APER E¥ 19:43.3 2
s|liatt BAE [FRERTFER |EF 19:45.2 1
I FE [WInPFERK =Ll 19:46.5 3
10/h#% FE  |BRiLEESER | B 19:48.5 2
11BN E |EFHER E¥ 19:58.3 3
12| K8 #7h | a7 20:02.1 3
13|55 BERE |SHPER s 20:05.8 2
14|=F BE  |FlhpER a5 20:08.1 2
15(IUA P hhn [BEAHFF PR tiEE 20:10.3 2
1625 & |LAPER 5 20:12.5 3
17[F) B8 ([Fridhh i 55 20:22.7 3
18[iE HEZE |EXRAPEKR tiEE 20:23.7 3
19|KH &BfF [/DMrpFER A H 20:26.1 3
20[XE FE [BAEHER tiEE 20:27.0 2
21|1f8H 3t FFH)I PR itiEE 20:33.0 2
22|pH HEfE  |[TEEWwE—PER(FHE 20:34.9 2
23|#%% BAHZE  [Win R =L 20:35.1 3
24| F B |HERER iEE 20:35.6 3
25| 5K & [flpdthER [ EE 20:36.6 2
26| TiRiIE #HE [ EHR #H 20:37.2 3
211EH S  [/MNFAEPER |FR 20:38.3 1
28| S48 & HPER 5 20:38.7 2
29|IL} FR  (WEsRPER (R 20:41.3 2
30|/0iE EA Ak B T ST B B p AR (RN 20:43.0 1
SIPAH W |SHHPER 5 20:45.2 3
208K By [EHERER tiEE 20:47.2 2
BEH TX |[FHEFK 5 20:50.9 1
M|EE FiHl  [BERER ¥ 20:55.1 1
5|RE EF |+BHETERER (Fie 20:58.5 2
36| LUK EHF Himh R =W 20:59.0 2
7 FmAR XA |FHFEK 5 21:03.9 3
38|Mi5 FEEF |HEIBHRER tiEE 21:05.2 1
/ME HmF  (HHETREHER |FE 21:05.5 2
40[FH E# |+FHEFPER FUE 21:08.2 3




